MAT2705-01/02 13F Quiz 2 Print Name (Last, First) |

Show all work, including mental steps, in a clearly organized way that speaks for itself. Use proper mathematical
notation, identifying expressions by their proper symbols (introducing them if necessary), and use arrows and equal
signs when appropriate. Always simplify expressions. BOX final short answers. LABEL parts of problem. Keep
answers EXACT (but give decimal approximations for interpretation). Indicate where technology is used and what
type (Maple, GC).
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e) Check by hand that your solution to c) solves the differential equation. [Remember, backsub everywhere in the DE
eliminating y, then simplify both sides independently.]

f) Enter the differential equation and the initial condition separated by a comma in Maple. Right click and solve.
Write down the form of the solution that it gives you. Does it agree with your hand solution?

’ l t_ Jl‘ gt -}h g'\\“(ot’n\’ (Uni\(u\l\é 0 ‘Z.c:mC (5;\(»;(:\‘10.‘\ -—'-_5\;)(2)‘)
solution & yor=3 = %=0,9=-% ﬂ]y(%)——-—lze
L ,‘.
a) see graph - A \S/Dé‘i? _ d > ;g"'* SQMGXCQP\'IJ"&M('
b) 3_)% = Y s 2% 2 (ndude ()arenjrﬁeg—-—
shardad M
gglg = (s 2x ax polaho
Y | shortlist
infyl = L2y + G T
S 24
= e d) Yy ==L 27T 2degess:
L sin2x
o 5 SH i
yl = € ¢ 2|~ 0.78780
- 10 3 SIN2X
- re e My hand drtwn cun~e 1s a b\‘\' low
C bw%gluer\ the. V()or‘ Y‘C’SD)M‘\'\UY\ d@ e

-‘iSm’lx 9\'\0\ anmws ;- v Seems reasonable.
B:G C &) B—’:"’ _le")'Zx

e
M o N 15(f\2x( s 2%) ) = ‘CoSZx ez &
ol fek Furval L/_’h\za»z 5C
”\\b | h,«f\ f:«y\';\‘ f‘& K

Sumpil X 1
FCuhes %‘%MZX —  -Lasxe "m?*: e 750 Vs v

be'C

i ] Al € —r
SUb! ( l\\‘ eliminale y eue \L}A_\)é‘rﬁ (&\\LT\"U\('\‘\" \ ¢ - ——%0)52 e -\i (qzx/csqv\e7

frue o

{



